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60 Problems in Factoring by a Mixture of Methods
(Part 5)

31. 7xy? — 28x% + y? —4x* = 7x(y? — 4x*) + (y? —4x*) = (7x + 1)(y? — 4x*) =
= (7x+ D(y + 2x*)(y — 2x?).

33. 27+8x3 =334+ (2x) =B+ 2x)(32 —6x + (2x)?) = (3 + 2x)(9 — 6X + 4x?).
35. 27x3 —-1=(0Bx)*-1*=CBx—-1D(Bx)?+3x+1?) = Bx—1)(9x*> + 3x + 1).

37.

1 6
2 3

3x2 + 5xy + 2y? = 3x% + 2xy + 3xy + 2y%2 = x(3x + 2y) + y(3x + 2y) =
= (Bx+2y)(x +y).

3. 64+ x3 =43 +x3=4+x)(4*> - 4x+x?) = (4 +x)(16 — 4x + x?).
41. e3* —1In3(x) = (e* — In(x))(e?* + e* In(x) + In?(x)).

43, 8—x3=23—x3=Q2—-x)(2%?+2x+x*) = 2 —x)(4 + 2x + x?).
45, x3+27=x3+32=(x+3)(x?2—-3x+3%) = (x+3)(x2—-3x+9).

47. 18e3* —33e?* + 12e* = 3e*(6e?* — 11e* + 4) = 3e¥(6e?* — 3e* — 8e* +4) =
= 3e*[3e*(2e* — 1) — 4(2e* — 1)] = 3e*(2e* — 1)(3e* — 4).



49.

9
1 9
-1 -9
3 3
-3 -3

9x2 —6x+1=9x2—-3x—-3x+1=3xBx—-1)—-Bx—-1)=GBx—-1)Bx—-1) =
= (3x —1)2.

51. In3(x) + 8 = [In(x)]® + 23 = (In(x) + 2)([In(x)]? — 2In(x) + 2%) =
= (In(x) + 2)(In?(x) — 2In(x) + 4).

53. sin?(0) — 1 =(sin(#))? — 1 = (sin(8) + 1)(sin(8) — 1).
55. e?* — 16 = (e¥)? — 4% = (e* + 4)(e* — 4).

57. e4x _ er — er+2x _ er — er . er _ er — er(er _ 1) — 82x[(ex)2 _ 12] —
=e?*(e*+1)(e* —1).

59. e%*sin 2(x) — x%In%(x) = [e*sin(x)]? — [xIn(x)]? =
= [e* sin(x) + x In(x)][e* sin(x) — x In(x)].

“Only he who never plays, never loses.”
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